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f(x) = x101(mod n) .

That.is. raise ¥._to the pauwer 101, and veduc lon . The

function can be easily calculated by any large computer who knows n .

It turns out that if 101 is not a factor of p-1 or gq-1 ,
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PROBLEMS

The problems section assumes a new format this issue in the
hope of encouraging greater reader participation not only in solving
but in suggesting new problems. Please send solutions to old problems
and suggestions for new ones (with or without solutions) to the
Communicator, Dept. of Mathematics and Statistics, Queen's University,

Kingston, Ont. K7L 3N6. This issue we have problems submitted by

two members of the Department.

Problem 5. 16

_1
64 ~ 4
The correct answer is obtained by cancelling the sixes. How
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Ole Nielsen

Problem 6.

Find integers m and n so that 3.14159 < vm - v < 7 .
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SOLUTIONS TO PAST PROBLEMS

Problem 4.

Summing The Harmonic¢ Series
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- fLim Sn - &n(n+l) =y

N-»oo

It is convenient to let €_ be the sum of the infinitely many

triangular regions from n + 1 onwards. Hence

Sn = ¢n(n+l) + y - € (1)

n

By the '"stacking principle" the triangles making up o

n all fit into a box of width 1 and height 1/(n+1) . ==

Since the bottoms of the triangles are concave up, the

With these estimates, and equation (1) it is clear from the following

5abla rrat thoormo e, § frmlle 12207,
1 1
n 2(n+1) [€¥Sn) gn{n+l) + Y
12366 .0000404 10.0000026
12367 .0000809 10.0000834

Correct solutions were received from Joseph Hagge and

Rolf Clack. The above solution is a slight simplification of Clack's.

PDT















